

NOVÁ ŠKOLA - 5P - Uvažuji, odhaduji, počítám

10.09 - 1

Sčítání přirozených čísel

A. 49 000 + 17 000 =	790 000 + 57 000 =	990 000 + 240 000 =
89 000 + 35 000 =	890 000 + 4 600 =	190 000 + 54 000 =
49 000 + 74 000 =	190 000 + 67 000 =	590 000 + 75 000 =
28 000 + 46 000 =	790 000 + 17 000 =	490 000 + 170 000 =

10.09 - 1

Sčítání přirozených čísel

B. 49 000 + 76 000 =	490 000 + 4 300 =	990 000 + 640 000 =
69 000 + 4 700 =	190 000 + 6 700 =	190 000 + 640 000 =
59 000 + 75 000 =	380 000 + 25 000 =	390 000 + 660 000 =
78 000 + 6 500 =	380 000 + 84 000 =	280 000 + 27 000 =

10.09 - 1

Sčítání přirozených čísel

C. 89 000 + 15 000 =	590 000 + 74 000 =	990 000 + 150 000 =
89 000 + 3 400 =	980 000 + 35 000 =	790 000 + 160 000 =
38 000 + 4 400 =	190 000 + 27 000 =	590 000 + 650 000 =
38 000 + 15 000 =	680 000 + 34 000 =	590 000 + 35 000 =

10.09 - 1

Sčítání přirozených čísel

D. 19 000 + 25 000 =	190 000 + 2 600 =	190 000 + 44 000 =
59 000 + 7 300 =	980 000 + 27 000 =	880 000 + 35 000 =
98 000 + 17 000 =	990 000 + 43 000 =	390 000 + 150 000 =
29 000 + 5 400 =	690 000 + 35 000 =	180 000 + 37 000 =

10.09 - 1

Sčítání přirozených čísel

E. 99 000 + 3 700 =	990 000 + 6 300 =	390 000 + 750 000 =
79 000 + 33 000 =	480 000 + 44 000 =	290 000 + 740 000 =
48 000 + 24 000 =	190 000 + 4 600 =	180 000 + 660 000 =
18 000 + 77 000 =	780 000 + 75 000 =	380 000 + 450 000 =

10.09 - 1

Sčítání přirozených čísel

F. 99 000 + 43 000 =	790 000 + 43 000 =	490 000 + 270 000 =
39 000 + 33 000 =	680 000 + 53 000 =	190 000 + 15 000 =
99 000 + 43 000 =	690 000 + 64 000 =	290 000 + 230 000 =
58 000 + 4 500 =	380 000 + 4 400 =	890 000 + 530 000 =